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Question 1- P can do the work in 12 days, while Q alone can assemble it in
28 days. If they construct it together and get an installment of Rs. 5400.
What is P's offer?

T 1- P 3Tohcd ShTH okl 12 T § o TehdT &, STelfeh Q 3ohel 39 28 fedi A S
HehdT 2| ATG o SH Teh |TY ST © I 5400 T h fohed ITH T 2| P

T T 22

A.Rs 3780
B.Rs 3450
C.Rs 4480
D.Rs 4280
E. None of these
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Question 2- Difference between the total CI and total SI for 2 years on a certain
sum at 20% per annum 1s Rs. 840.What will be the simple interest earned on

the same sum at 25% per annum for 3 years?

T 2- Teh (TS5 TIRTT 20% il a1 shl SH 2 TN o T7T et <Ashelfeg SATST 3N
el ETEIOT SATS] o Si<l o1 JT 840 %, 81 J&T TIRT T 25% Tfl a1 shl G H 3 81

(@

o ToTw TSI FTToT STt =T BT

%

A.Rs 12450
B.Rs 15750
C.Rs 14450
D.Rs 22150
E. None of these
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Question 3- A and B invested Rs. 6000 and Rs. 12000 respectively in a
business. After 6 months C joined and B left 9 months after the starting of the
business. If the profit share of C at the end of the year 1s Rs.9450 out of the
total profit which is Rs. 25200, then find the amount invested by C

T 3- A 3T B 9 Ueh SF99™ H ShHST: 6000 T 3T 12000 9= kT 97 foRaT| 6

TEIH % S1e C IMHSA BIdT & ST B = SHE1E & L o 9 HRl- o1a hiH B1s ol
afe o oh S H C T AT 56T et 19 H W 9450 79 & ST 25200 %R &, 1 C

FCEEMIEARIERUEINIGEEAISE] A.Rs 21000
B. Rs 22000

C.Rs 14000
D.Rs 18000
E. None of these
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Question 4- The cost price of an article 1s Rs. 1200. K sells it to A at a profit
of 10%. A sells the same article to his customer and earns a profit of 5%.
Find the selling price of the article by A.

% 4- Teh SR o1 563 Ao 1200 &9 81 K 36 A 3l 10% SATH T ST ol A 3Hi
ST S I UTEH h =T @ ST 5% hT AT TSI Ll 2l A FHT o
CERERRRIREIIEL

A.Rs 1286
B.Rs 1186
C.Rs 1446
D.Rs 1386
E. None of these
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Question 5- Two boats P and Q start towards each other from two places,
910 km apart. Speed of the boats P and Q 1n still water are 28 km/hr and 37
km/hr respectively. If A proceeds downstream and B proceeds upstream,

they will meet after?

T4 5- BT 7e P I Q Ueh-gHL shT A 3T T & 910 Topl shT ol ot = 1%
St 5| R 1T 3 A1 P ST Q 1 7T T 28 Fapefl/etaT 39T 37 Ry 2
Afd A IR o AR AT ¢l & SR B G/ o foolid AT S@dT e, did ae |

LN A.14 hr
B.12 hr

C.10 hr
D.15 hr
E. None of these
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Question 6- The length of train P and that of train Q 1s 2200 m and 1400 m
respectively and their speed is 54 km/hrand 108 km/hr respectively. What
will be the sum of time taken by train P and train Q to cross each other
while moving in same direction and opposite direction?

T 6- ¢ P 3T Q shl SAsTs shAT: 2200 HIT T 1400 HieT 7 3 A i
SRUST: 54 ToRT1/E1eT ST 108 ToRHT/EeT 81 7 P 3T ¢ Q S 99 eI 3R

feroier fermm o =refd BT Ush-gHL ohl TR sl H TeTU TTT G T JT 1 BT
A.56 sec

B. 30 sec

C. 44 sec

D. 160 sec

E. None of these
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Question 7-
i) x*-6x-112=0
(i) y*> +3y-40=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 8-
i) x*-23x+132=0
(i) y* -25y+156=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 9-
(i) x*-27x+180=0
(i) y* -9y+20=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 10-
i) x*+12x+35=0
(i) y*> -5y-66=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 11-
i) x*+x-30=0
(i) y* - 14y +45=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 12- The average weight of a group of 60 men was 46 kg. It was
later found that the weight of one of the man was read as 64 kg. whereas his
actual weight was 34 kg. What 1s the actual average weight of the group of
60 men?

T 12- 60 TN o Ueh {HE hT {16 W 46 ToRUT 91| STe | I 91T 77 foh st
H ¥ Uk hT I 64 ToRadl Ut T-IT 9| STelfoh 3HhT ATEdtdeh o= 34 Tohadl 9Tl 60
TN o HHE T AR (oo STTHd IS 1 27 A.46.5 kg

B.45.5kg

C.48 kg

D.46.33 kg

E. None of these
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Question 13- The height of a cylinder is 2 times the radius of base of
cylinder. If the area of base of the cylinder 1s154 cm?. Find the total

surface area of the cylinder.
T 13- Tk St hl a1 siet o TR 3hT AT T 2 7T 21 Ffa sieH o SATER
T BB 154 CMN* R S T shel TEIT &% 14 HITSTY)

A.616 c?
B. 884 cm?
C.924 cm?

2

D.600 cMm
E. None of these
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Question 14- Two Pipes A and B can fill the reservoir separately in 50 and
60 minutes respectively, but when the waste pipe 1s open they together can
fill the reservoir in 50 minutes. What is the time taken by the waste pipe to

empty the reservoir?

14. 319139 A 3T B 3TcHT-3T01T ShHST: 50 3T 60 fiHe O SIAR™ W Eehd 2,
Ao STeT ST UTST AT BT 8 A1 of Teh |1 SIR i 50 e § 7 aehd
2 STf3TT UTSY G STATIT ohl Wiett s | forIm TTm 99t <RI 82

A.40 min

B. 50 min
C. 60 min
D.45 min
E. None of these
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Question 15- Find the wrong term 1n the following series.

5 15- HHTIREd SEel § Tetd & o1 9T o]
529,841,961, 1367, 1681, 1849, 2203

A.841
B. 1849
C. 1367
D.2203
E. 529
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Question 16- Find the wrong term 1n the following series.

99 16- FHIRad @t § 7erd g 1 9T )|
22,30,46,78, 134,270

A.270
B.78
C.134
D.46
E. 22
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